

Private Bag X885, Pretoria, 0001, Tel: +27 12 312 7479, Fax: +27 12 325 7071 Private Bag X9153, Cape Town, 8000, Tel: +27 21 465 4011, Fax: +27 21 465 4469 www.dsd.gov.za

ThulaniF@dsd.gov.za

Cell 078 397 8278

Memorandum from the Parliamentary Office

Minister

NATIONAL ASSEMBLY QUESTION FOR WRITTEN REPLY QUESTION NUMBER 1794 DATE OF PUBLICATION 06 MAY 2022 IN THE INTERNAL QUESTION PAPER NUMBER 16 OF 2022

National Assembly Written Reply: 1794 of 2022

Recommended / Not Recommended

Mr P Netshipale

DDG: Community Development

Date:



Private Bag X885, Pretoria, 0001, Tel: +27 12 312 7479, Fax: +27 12 325 7071 Private Bag X9153, Cape Town, 8000, Tel: +27 21 465 4011, Fax: +27 21 465 4469

ASSEMBLY QUESTION FOR NATIONAL WRITTEN REPLY QUESTION NUMBER 1794 DATE OF PUBLICATION 06 MAY 2022 IN THE INTERNAL QUESTION PAPER NUMBER 16 OF 2022

National Assembly Written Reply: 1794 of 2022

Recommended / Not Recommended

Mr F Esterhuizen **ACFO** Date:

Recommended / Not Recommended

Mr. L Mchunu

Acting Director-General: Department of Social

Development

Date:



Private Bag X885, Pretoria, 0001, Tel: +27 12 312 7479, Fax: +27 12 325 7071 Private Bag X9153, Cape Town, 8000, Tel: +27 21 465 4011, Fax: +27 21 465 4469 www.dod.gov.za

NATIONAL ASSEMBLY QUESTION FOR WRITTEN REPLY QUESTION NUMBER 1794 DATE OF PUBLICATION 06 MAY 2022 IN THE INTERNAL QUESTION PAPER NUMBER 16 OF 2022

National Assembly Written Reply: 1794 of 2022

Recommended / Not Recommended

Ms H Bogopane-Zulu Deputy Minister Date:



Private Bag X885, Pretoria, 0001, Tel: +27 12 312 7479, Fax: +27 12 325 7071 Private Bag X9153, Cape Town, 8000, Tel: +27 21 485 4011, Fax: +27 21 485 4469 www.dds.gov.za

NATIONAL ASSEMBLY QUESTION FOR WRITTEN REPLY

QUESTION NUMBER: 1794

DATE OF PUBLICATION IN INTERNAL QUESTION PAPER: 06 MAY 2022

INTERNAL QUESTION PAPER NUMBER: 16 - 2022

1794. Ms L L van der Merwe (IFP) to ask the Minister of Social Development:

(1) (a) What total number of non-profit organisations (NPOs) in each province did her department provide funding to in the 2021-22 financial year and (b) will she provide Ms L L van der Merwe with (i) a list of all NPOs funded and (ii) the total amount of funding allocated to each NPO;

REPLY

See list attached.



Private Bag X885, Pretoria, 0001, Tel: +27 12 312 7479, Fax: +27 12 325 7071 Private Bag X9153, Cape Town, 8000, Tel: +27 21 485 4011, Fax: +27 21 465 4469 www.dod.gov.za

(2) what (a) total number of NPOs had their budgets cut in the 2021-22 financial year in each province, (b) are the names of the NPOs that had their budgets cut and (c) did the cuts amount to in total? NW2123E

IXEI ET.	
None	
National Assembly Written Re	ply: 1794 of 2022
Approved by the Minister of Soc	cial Development

RFPI V.